Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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(05 Marks)

(10 Marks)
= H/m, G = 6 2x10™ U/m and

. N (12 Marks)
A single stub tuner is to match a 10§51 s line'6f 4002 to a load 800 — j300<2. The frequency
of operation is 3GHz. & Ly
i) Find the distance in meters,from the load té )i i

ii) Determine the lengthin meters of the short clrciuted stub
Note: Use Smith chart. Give: the Jprocedure in steps. P (08 Marks)

Starting from wave eqrxatron derive the field componentycxp?essmns for TMp, mode of
propagation in a rectangular waveguide. (10 Marks)
Explain a two- hole ‘ectional coupler listing out its characterls‘t S (06 Marks)
A matched 1s ator-has insertion loss of 1db and isolation of< 30db Find the scattering

coefﬁcrents Ll (04 Marks)
Brreﬂy rexp}am the different modes of operation in a Gunn diode. (08 Marks)
List outt e/,propertles of S — parameters. *) (06 Marks)

Prove_ that‘ it is impossible to construct a perfectly matched lossless reerprOeal 3-part
Junctlon b (06 Marks)

Explaln with a neat sketch precision type variable attenuator. (08 Marks)
What are applications of Magic Tee? Briefly explain any one of them. (06 Marks)

In a H-plane Tee junction, compute power delivered to the loads 4002 and 60 Q connected to

collinear arms 1 and 2 when 10mW power is delivered to arm 3. Assume Zo = 50€2.
(06 Marks)
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(12 Marks)
ric material of the

With re‘i&vant equation explain various losses in a microstripline. /
A lossless paralle] strip line has its conducting strip of with W. The dx&\
strlp line has;;e; thickness of 4mm and its permittivity is 4. Compute :
W so that z, = 75Q /A
apacitance
iii) Strip lin¢-inductance .
iv) Phase Ve}oct 5’ of the wave propagating through the lin

(08 Marks)

$/influencing the Radar Range.
’ (10 Marks)
(04 Marks)

06 Marks)

With a block diagram, explain the wo;kmgief a MTI radar. (08 Marks)
Write short note on : N
i) Blind speed

\\

ii) Delay line cancellers. N7 ™ (08 Marks)
A MTI Radar has a PRF of 100QH>Z at 4GHz: Comnute lowest, second lowest and third
lowest blind speeds expressed m‘\meph (04 Marks)
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